
Oliver Catalog:  60, 70, 80, 90 Classic Tractor Hardware

6
0

7
0

8
0

Description NotePart No.

9
0

10 - Sheet Metal Hardware Kits
W411 Hardware Kit, Sheet Metal

W412 Hardware Kit, Sheet Metal

W413 Hardware Kit, Sheet Metal

W414 Hardware Kit, Sheet Metal

11 - Sheet Metal Parts
nameplate, SSS2978 Screw, Drive No. 6 x 1/4 Rd Hd Brass

14 - Grommets
wiring1B7364 Grommet, Rubber 1-3/8 OD x 3/4 ID x 1/16 Gr

20 - Fenders, Platform, Seat
S412 Hardware Kit, Fender Extension 70

S413 Hardware Kit, RC Fender & Extension

1K942 Bumper, Seat

22 - Fuel Sticks
V414 Fuel Stick, 90 & 99

30 - Engine
engine oil drainB167 Plug, Oil Drain 7/8-18 UNS Hex Hd

$3.00 Steel, $4.50 AlumB168 Seal, Oil Drain Plug 7/8

governor link kitB411 H888 Governor Link - 6, 7, 8

carburetor drain plug1331 Plug, 1/8" NPT Brass

gas manifold1H432 Nut, Hex Brass 3/8 - 24 UNF

33 - Engine Exhaust Clamps
muffler; single bolt, pulls around for best sealSSC1730 Clamp, Exhaust 1.50 (1.530-1.730) - 1730

muffler; single bolt, pulls around for best sealSSC2280 Clamp, Exhaust 2.00 (2.080-2.280) - 2280

34 - Engine Exhaust Rain Caps
Donaldson:  zinc plated; nylon stop for quiet operation1163 Rain Cap, 2" (2.00")

40 - Drive Train
3D printed from TPUBA916A Boot, Gear Shift Lever

60 - Electrical, Lighting
protects battery tray, absorbs & neutralizes acid1124 Battery Mat, 8"x14"

63 - Battery Bolts
30-3054519 and S1529; USS flat washerS1529 Bolt, Battery 5/16 - 18 x 10 Hex Hd

70 - Steering
1H727 Thrust Bearing, Steering Knuckle Shaft

71 - Steering Wheel Nuts
steering wheelS170 Nut, 3/4" - 16 UNF Hex Jam

80 - Frame, Wheels
7/8" hex, 45 deg taper1H706A Bolt, Frt Wheel (9/16 - 18 x 1-5/32, 1-19/32) Hex T

Page 1 of 1Tuesday, December 24, 2024 www.oliverhardware.com


